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Drücken Sie r2 durch r1 aus.       

 

 
  

                       r1   
Strecke AB  = ---- 

                       2 
 

                     r1       
Strecke BC = ---- + r2 

                     2     
 

Strecke AC = r1 - r2 
 

Satz von Pythagoras im Dreieck ABC: 

 
BC² = AB² + AC² 

 
            r1                 r1   

         (---- + r2)² = (----)² + (r1 - r2)²  
            2                  2         

 
 r1²                          r1²                                    r1² 

---- + r1*r2 + r2² = ---- + r1² - 2*r1*r2 + r2² | - ---- 
 4                             4                                      4 

 
           r1r2 + r2² = r1² - 2r1r2 + r2² | - r2² 

 
                   r1r2 = r1² - 2r1r2 | : r1 

 

                     r2 = r1 - 2r2 | + 2r2 
 



                   3r2 = r1 | :3 
 

                             r1      

                     r2 = ----    

                             3    


